	Putting Together


	Part	               Part	           Total



	Dusty found 4 acorns and Joe found 13 acorns.  How many acorns do Dusty and Joe have altogether?
    Dusty’s acorns      Joe’s acorns    Total
 (
13
) (
4
)								? acorns
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	Putting Together


	Part	               Part	           Total



	Kyle had 29 erasers and Eddie had some too.  If they have 36 erasers altogether, how many erasers did Eddie have?

 Kyle’s erasers	  Eddie’s erasers	Total
[bookmark: _GoBack] (
?
) (
29
)								36 erasers 

	[image: ]






	Putting Together


	Part	               Part	           Total



	Carrie has some dolls.  Her friend Julie has 9 dolls.  When they put their dolls together they have a total of 17 dolls. How many dolls does Carrie have?
Carrie’s dolls	      Julie’s dolls	Total
 (
9
) (
?
)								17 dolls
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